AT E F 4 109 & TR R IR R
S CUE R M
Rl B2 REK 2EAFFEILE

1. AZR3EE 4 F (A3 A 138) o

2.7 R AEEFERETLT La%

3R L HEHE 50%\’4’;%2 £ 1004 > F* BT BB R FFTE A
AL H B MR ITE T A P o
43f3r b MEA Y "?*&ggs}g;
wﬁsﬁ s 4oz e A B 3
AWM S P

AR Y I TR T R A N

6%;4‘%%‘?\@53—}%% ’ ;éﬁfﬁxh%t%—%ﬁg*w iR A& Fé‘ Fois 0 40 1® i&';éi%‘élﬁéif@
E'—i—:‘%g’so

T.EEER 90 & 48 o

4l g \\.\.}i

[D] 14z filz 2 REF LAV EREMEPF2IE - o > FiavHPEREZKEFT A
b ‘; w9
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(A) 800 C (B) 900 C (C) 1000 C (D) 1200 °C
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(A) 900 C (B) 1,000 C (C) 1,100 °C (D) 1,200 °C
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(C) CO

(D) NazSO4
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(A) 0.1 ppm (B) 1 ppm

(C) 10 ppm

(D) 20 ppm
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(C) + SO4

(D) SO4*
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(A) 0~ 150 mg/L (B) 10 ~ 220 mg/L
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(D) 30 ~ 350 mg/L
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(A) 100 mg/L (B) 0.262 mg/L
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(A)1150~950°C  (B) 900 ~700 C

(C) 650 ~ 500 °C
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(D) 400 ~ 200 °C
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(A) CO, (B) CO (C) HCHO (D) NO»
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(A) 0.1 mmHg (B) 1 mmHg (C) 10 mmHg (D) 100 mmHg
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(A) In situ (B) Ex situ (C) On site (D) Out site
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